NSy niversal Scientific Industrial (Shanghai) Co.,Ltd.

Financial Analysis
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and Equipment Ratio (%)
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Operating Performance i 1.50 1.66
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Average Inventory Days(Days) 59.84 54.09
Property, Plant and Equipment
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Total Assets Turnover (Times) 0.40 0.37
Return on Total Assets (%) 1.24 1.15
L ) Return on Equity (%) 2.35 2.15
Profitability Analysis
Profit to Sales (%) 2.91 3.01
Earnings Per Share (CNYS) 0.10 0.09




NSy niversal Scientific Industrial (Shanghai) Co.,Ltd.

Financial Analysis - Continued

Glossary:
1. Financial Structure Analysis

(1) Liabilities/Assets Ratio = Total Liabilities / Total Assets
(2) Long-term Funds to Property, Plant and Equipment Ratio = (Shareholders’
Equity +Noncurrent Liabilities) / Net Property, Plant and Equipment

2. Solvency Analysis

(1) Current Ratio = Current Assets / Current Liabilities

(2) Quick Ratio = (Current Assets - Inventories - Prepaid Expenses) / Current
Liabilities

(3) Times Interest Earned Ratio = Earnings before Interest and Taxes / Interest
Expenses

3. Operating Performance Analysis

(1) Average Collection Turnover = Net Sales / Average Trade Receivables

(2) Average Collection Days (Quarterly) = 90 / Average Collection Turnover

(3) Average Inventory Turnover = Cost of Sales / Average Inventory

(4) Average Inventory Days (Quarterly) = 90/ Average Inventory Turnover

(5) Property, Plant and Equipment Turnover = Net Sales / Average Net Property,
Plant and Equipment

(6) Total Assets Turnover = Net Sales / Average Total Assets
4. Profitability Analysis

(1) Return on Total Assets = (Net Income + Interest Expenses * (1 - Effective Tax
Rate)) /Average Total Assets
(2) Return on Equity = Net Income Attributable to Shareholders of the Parent /
Average Equity Attributable to Shareholders of the Parent
(3) Profit to Sales = Net Income / Net Sales
(4) Earnings Per Share = (Net Income Attributable to Shareholders of the Parent -
Preferred Stock Dividend) / Weighted Average Number of Shares Outstanding



